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1. The optical phenomenon that is 4. Lowering the atmospheric pressure on a
responsible for the propagation of light liquid
signal through an optical fibre is

fa} increases the boiling point of the

fa} - interference liquid

fb) scattering 2 . S,
{b) lowers the boiling point of the hquid

{c) total intermal reflection

@ . fc) does not affect the boiling point of
refraction

the ligquid
2. Which of the following statements about {d) i“'c_fﬂaﬂs the time required for it to
optical microscope is/are correct? boil

1. Both the eyepiece and objective of a

microscope are convex lenses, :
: 5. The number of angular and radial nodes

2. The magnification of a microscope for 4d orbital is respectively

increases with increase in focal
length of the objective. @ 2 and 1

3. The magnification of a microscope
depends upon the length of the {b) 1 and 2
microscope tube.

2 J and 1
4. The eyepiece of a microscope 1s a (c) e

concave lens. (d 4 and 0
Select the correct answer using the code

i below,
given below 6. Which one of the following statements

fa) 1 and 3 about proteins in mammalian cells is
correct?

fb) 3 only

fc) 3 and 4 fa) Proteins in mammalian cells are

synthesized in cell membrane.
{d 1, 2 and 4
(b) Proteins in mammalian cells are

3. Which one of the following gemstones ol synthestsed: i cell membiane

contains beryllinm metal? but directly absorbed from food.
{a) Topaz (c) Proteins in mammalian cells are
synthesized in rough endoplasmic
{8} Emerald reticulum.
Rub
€ Buby {d) Proteins in mammalian cells are
(d) Blue sapphire synthesized in Golgi apparatus.
BTS-U-GHYT/S9A 3 [ P.T.O.
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7. Which one of the following statements
about transport mechanism in plants 1s

9. The term LASER stands for

correct? {a) Light Amplification by Stimulated
fa) Diffusion of ions and small Fantzaion of Radintion
molecules across cell membrane
requires energy. b} Light Amplification by Spontaneous
Emission of Radiation
(b) Active transport of ions and small
maleeles acrons cell embrace (¢) Light Amplification by Stimulated
aga.u'.lst concentration gradient Emission of Rays
requires energy.
fc} Cells conserve energy and no {d} Light Amplification by Stimulated
energy is required for transport of Energy of Radiation
ions and small molecules against
concentration gradient.
(d} Cells do not transport ions across

their membrane as these are

charged molecules.

10. Which of the following statements about
carboxylic acids is/are correct?

8. If the amplitude of oscillation of a simple 1. Simple a]iplflatic carboxylic acids
pendulum is very small, then its time are soluble in water.
period ol qsclation 2. Higher carboxylic acids are
1. depends on the length of the practically insoluble in water.
pendulum, L
: 3. The acidity of a carboxylic acid
.58 deptra_nds on the acceleration due to depends on the number of carbon
gravity, g atoms present in the hydrocarbon
3. depends upon the mass of the bob chain.
of the pendulum, m
4. does : not deplgs” upon the Select the correct answer using the code
amplitude of the pendulum, A given below.
Select the correct answer using the code
given below. fa) 1 and 2 only
1,2 and 3
(@ = {b) 2 and 3 only
fb} 1, 2 and 4
¢/ 1 onlk
fej 2,3 and 4 (e e
fel 1 and 4 only {d) 1, 2 and 3
BTS-U-GHYT/59A 5 EBT0.
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11. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-IT
{Compouncl) {Type of polymer)
A, Melamine 1. Linear

B. Polyvinyl chloride 2. Condensation

C. Terylene 3. Natural
D. Cellulose 4. Cross-linked
Code :
a A B C D
3 2 1 4
(b} A B C D
4 1 2 3
fc] A B - D
3 1 2 4
fd} A B D
4 2 1 3

12. The Tropic of Cancer passes through
which one of the following countries?

{a) North Sudan
(b) Chad

fc) Mali

fd] Yemen

13. Gersoppa Falls is formed by which one of
the following rivers?

fa] Lohit

fb) Tungabhadra
fc) Sharavati

{d}] Kmishna

BTS-U-GHYT/S9A
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14. Which one of the following processes is

not a part of long-wave radiation?
fa} Conduction

fb) Scattering

fc) Convection

{d} Radiation

In mid-latitude regions, the diurnal

variation in weather is due to
{a) raising air/convection

fb) sinking air/conduction
{c) advection

{d) radiation

16. Springs are common in which of the

following areas?

1. Well jointed rocks

2. Arid areas with underlying rocks
3. Karst topography

4. Tilted strata

Select the correct answer using the code
given below.

faj 1 and 3 only
(b) 1, 3 and 4
fe} 2 and 4

{(dl 3 and 4 only

[ B.T.O.
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17. Consider the following diagram : 20. Which one of the following is the area of a
sector of a cirele of radius 10 cin formed
by an arc length of 15 cm?

fa) 10n cm?

(b} 15mem*

An equilateral triangle is inscribed in a fc) 75 cm?
circle of radius 1 unit. The area of the
shaded region, in square unit, is (d) 150 -
n A3 1
il _— — ——
(@ 3 4 ®) 3 2
T 3 P 21. On simplification the product
(c) "t (d) 3 1

(g + thllxa + Ya) ... (%30 + Y1)
18. In an examination, 53% students passed

in Mathematics, 61% passed in Physics, how many such terms are there which
60% passed in Chemistry, 24% passed will have only single x and rest ys?
in Mathematics and Physics, 35% in

Physics and Chemistry, 27% in (a) nll

Mathematics and Chemistry and 5% in

none. The ratio of percentage of passes () 10

in Mathematics and Chemistry but not

in Physics in relation to the percentage e 20

of passes in Physics and Chemistry but

not in Mathematics is [d) 1

fa) V:5 (b) 5:7

fc) 4:5 {d) 5:4

22. Which one of the following statements
19. Consider the following diagrams : about blood elements is correct?

fa) Red blood cells’ number is same

14 | 36 m @ m _ as that of white blood cells and
platelets.

(b) The number of white blood cells is

more than red blood cells.

Which one of the following is the

missing number in the diagrams given fe] The number of red blood cells is the

above? highest.

fa) 1 b) 2 {d) The number of red blood cells is

fe) 3 {dl 4 lower than platelets.
BTS-U-GHYT/59A 9 | P.T.O.
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23. Which one of the following statements

regarding muscle

contraction and

relaxation i1s correct?

fa)
(b}
fc}

(d}

it involves movement of Zn* * ion.

t

It involves Ca'?! ion of blood.

It involves release of Ca®™™ from
sarcoplasmic reticulum (SR} and
pumping Ca** back in SR.

It involves exchange of Na and K.

24. Which one of the following statements
regarding digestion is correct?

(a)

®)

(c)
(d)

Fat present in the food is digested
by trypsin and chymotrypsin.

Starch of food
lipases.

is digested by

Fat of food is digested by lipases.

MNucleic acid is

amylases.

digested by

25. Which one of the following statements is
correct?

{a)

(b

(e}

fdd) The carbohydrate

In photosynthesis by green plants,
carbon dioxide is used for making
carbohydrate.

During photosynthesis, plants use
oxvegen for making carbohydrate.

The carbohydrate generated by
plants comes from soil.

generated by
plants comes from urea.

BTS-U-GHYT/S9A
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26. Which one of the following statements
regarding insulin hormone is correct?

(a)

b

(c}

(d)

Insulin is a protein hormone which
is not produced in human body.

Insulin is a steroid hormone which
is produced in human body.

Insulin is a cholesterol-driven
hormone given to human.

Insulin is a protein hormone which
is produced in human body.

27. Match List-I with List-1I and select the
correct answer using the code given
below the Lists :

ListI List-II
{Limestone region) {Country)
A. Pennines 1. France
B. Yucatan Peninsula 2. Jamaica
C. Cockpit Country 3. Britain
D. Causses 4. Mexico
Code :
fal A C D
3 4 2 1
{b) A B C D
1 2 4 3
el A B C D
3 2 4 1
{d) A B C D
1 4 2 3
[ P.T.O.
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28. Which of the following cities experience 31. Arabian Sea records higher salinity than
the warm temperate Mediterranean the Bay of Bengal because
climate?

{a) Arabian Sea exhibits high rate of

1. Cape Town evaporation and low influx of fresh-

2. Los Angeles water
3. Adelaide (b) Arabian Sea has shallow water
4. Santi ;
e () Arabian Sea has more enclosed
Select the correct answer using the code land
given below.

(d) Arabian Sea receives more rainfall
fa) 1 and 2 only

() 3 and 4 only

{fe) 1, 2 and 3 only 32. At what time between 2 o'clock and
3 o'clock will the hour and minute
fd) 1,2,3and 4 hands of a clock be 12 minutes division

apart?

29. Which one of the following is the correct \ !
descending order of Indian States in (@) 12 minutes past 2 o'clock
terms of their density of population (as (b) 18 minutes past 2 o’clock

per 2011 Census)?

(¢} 24 minutes past 2 o’clock

{a) Bihar—Kerala—Uttar Pradesh

—West Bengal {d} 30 minutes past 2 o'clock

(b) West Bengal—Bihar—Kerala
—Uttar Pradesh

{c} Bihar—West Bengal—Kerala 33. If the number
—Uttar Pradesh

22 % 5% x4°% x 108 x6'? x15!2
(d] Kerala—West Bengal—Bihar

—Uttar Pradesh % 814 %2016 % 1018 x 2520

AR et I e tndtor- Hiie is divisible by 10", then which one of

basins of India is the shortest in length t};‘t ;ﬂuﬂwmg is the maximiim: valine
and smallest in terms of catchment ol
o>
areas @ 78
fa) Cauvery
(b) 85
() Mahi
fc) Penner (c) 89
{d} Sabarmati (d) 98
BTS-U-GHYT/59A 13 [ P.T.O.
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34, Suppose a, b, ¢ d and e are five

consecutive odd numbers in ascending
order. Consider the following
statements :

1. Their average is (a+4).
2. Their average is (b+2).
3. Their average is [e—4).

Which of the statements given above
is/are correct?

(@) 1 only

() 2 and 3 only
fey 1 and 3 only
({d 1,2 and 3

35. A king ordered to make a crown from

8 kg of gold and 2 kg of silver. The
goldsmith took away some amount of
gold and replaced it by an equal
amount of silver and the crown when
made, weighed 10 kg. The king knows

that under water gold loses g_lﬁth of

its weight, while silver loses Tlﬁth When

the crown was weighed under water, it
was 9-25 kg. How much gold was stolen
by the goldsmith?

fa) 1kg ) 2 kg
fc) 3 kg (d) 4 kg

36. If a cubical container of length, breadth

and height each of 10 cm can contain
exactly 1 litre of water, then a spherical
container of radius 10-5 cm can contain

(a) mot more than 4 litres of water

{b) more than 4 litres but less than
4-5 litres of water

fc) more than 4-5 litres but less than
5 litres of water

(d) more than 5 litres of water

BTS-U-GHYT/59A
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3%7. Which one of the following sites does not

38.

have coral reef formation?

faj Gulf of Cambay/Khambhat
(b} Gulf of Mannar

fcj Lakshadweep

{d) Andaman and Nicobar Islands

Which of the following statements are

appropriate to Mangrove Sites?

1. Mangrove plants require
appropriate mix of saline water
and freshwater.

2., Mangrove plants require mudflats
to enable it to grow and develop.

3. Mangrove plants are found in the

inter-tidal zones of sheltered
coasts.
4. Mangrove vegetation has been

reported in all the coastal States
including Andaman and Nicobar
Islands.

Select the correct answer using the code
given below.

fa) 1 and 2 only
(b} 2, 3 and 4 only
(c/ 1,3 and 4 only
d 1,2, 3 and 4

39, Which one of the following pairs is not

correctly matched?

(a) Indira Gandhi Rashtriya
Uran Akademi : Fursatganj

(b) MNational Flying Training Institute :
Belgaum

{c) National Institute of Hydrology :
Roorkee

(d) National Water Academy
(Headquarters) : Khadakwasla

[ P.T.O.
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40. TgHEa & FEffaa § 4 ey @ 4 feds

41.

42,

43,

ATTAE 3Tl /5s oar T 27
(a) TEEIHSH
(b) TEAHEA

(c) =rE ARIHEA
(d) &vHEA

fferfiaa 4 & £-6 mearR um Fe (39)
HI AE 87

(@) o Afafes
(b HiFcE
(c) I greEEE
(d) &=
TaH 100 v YOfH F PERE dE 6" &
fasrsy &1, @ n (97 i=) *=1 7gaw WH
1 Y
faj 18 (b) 33
fc) 44 d) 48
3 @ 10 foe w5l 931 % w2 & gf ein
oz & o & =fra =1 i g @
(@) 30° (b) 35°
(e} 37-5° (d) 40°
. UF aiga geie § 65 e uftum gul 3

adl s, B9 ok o & 4 S9-4-F9 Uw
w | e 21 9 e 15 =i sish o
%9 died 8, 13 =afe 3 ot sof 9ied &,
12 =ufe F= it s e € @ 5 =
A ATE § died 21 90 ¥/ 30 AfRE
w9 A ghd € 3R 30 =afw = 9 @
1 = =fal & den e 2, S Faw
ST # a9 B 87
fa) 17

) 22

(b} 20
(d) 40
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45, OH HIT 72 = m x n 8, 921 m 3N n yAET
s WU 2 l<menBi T m &

T gwifas w@ & a0 37
faj 5 bl ©
fc] 10 fd} 12

46. WA @i x, y, z @ TS Qs 5@ gww 2
% xsy<z 3R xyz="72 8 S &
Fefafea 9@ § 4 w=-Ar uw, gHEm
X+ y+z =S TF ° 200U= g a1 27

(@ 13 b 14
c) 15 {d) 16

1020 7 | o =0 w = # @ S
T G g7
faf 1
[cI\%

48, Fefafaa 4 4 =F-m s omths =ey
= 27
(a) =4
(b} &
(c) wnfes
(d) THEF (Fe)

fefafaa & & =17-91 ©F Haa7 sges 9 27
(a) @A
(b) DNA
(c) witerefi=

(d) FETE

fom =rl it $9E 9w =N 9@ 20 wieww
sifires gieft B, 378w wea &7

(a) I TEAR-AET

(b) <Y SEAR-9T

(c) 3Ty 3 qEFR SEn
(d) e 3R Ad-2fs w=m

47.

(b) 2
{d) 6

49,
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40. The lowest temperature is observed/
recorded in which one of the following
layers of the atmosphere?

fa) Stratosphere
(b}
fcj Thermosphere

(d)

41. Which one of the following
currents is net a warm current?

Mesosphere

Troposphere

ocean

fa) North Pacific
{b) Falkland
(c) North Equatorial
fd) Canary

42. What is the largest value for n (natural
number] such that 6" divides the
product of the first 100 natural
numbers? i
(a) 18 (b) 33
fc) 44 (d) 48

43. The angle between the hour hand and

the minute hand of a clock at
10 minutes past 3 1s

fa) 30° (b) 35°

{c} 375" (d) 40°

44. An international conference is attended
by 65 people. They all speak at least one
of English, French and German
language. Suppose 15 speak English
and French, 13 speak English and
German, 12 speak French and German
and 5 speak all the three languages. A
total of 30 people can speak German
and 30 can speak French. What is the
number of people who can speak only

English?
(@) 17 b) 20
c) 22 (d) 40

BTS-U-GHYT/59A
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45, Suppose 72 =mxn, where m and n are
positive integers such that l<m<n
How many possible values of m are
there?
fa) 5 (b) ©
fc) 10 (@ 12

46. Suppose X, y, z are three positive integers
such that x € y < z and xyz = 72. Which
one of the following values of S yields
more than one solution to the equation
xX+y+z=57
fa) 13 fb) 14
{e¢g 15 {d) 16

47. Which one of the following is the
remainder when 102? is divided by 7?
(@ 1 (b) 2
fe) 4 (d) 6

48. Which one of the following is anisotropic
in nature?
(a) Glass
fb} Rubber
(c) Plastic
{d] Quartz

49, Which one of the following is not a
condensation polymer?

fal] Nylon

{b) DNA

{e} Polythene
{d) Bakelite

50. The tides whose height is 20 percent
more than normal tide are called

fa) spring tides
(b)
fc) apogean and perigean tides
(d) daily and semi-diurnal tides

neap tides

[P.T.O.
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51. IWTHREHE ThaTa & "R Fefafeg seEt §

# FE-8 wdl 27

1. T B WEEPE 9B W 3@ sin
ferfira e 21

% ‘ﬁfa‘rﬁaﬂ%ma‘aﬁmmm
HAEETF Biell & |

3. T W Ay &9 § ufFe gar )

4. ¥E A AN U Sy T F Cufy
(3m3)’ fo=rftm =< = &1

A= e T g2 1w R T Iw g
fa) Fa@ 1 3% 2
b} 1, 23R4
(c) e 3 3R 4
(d) 2,3 3R 4

52, 9a fafaym @ el (g wie) & v §

Ffafaa Femt § @S-/ v 3787

1. = w8 w9 st
TEM W T (SETEe RN W
FHIHE AE TR I Age fEEw
ufq IUCN) Zrr i mft 24

2. wa fafam aw w5 S Tl §
7gET uftfea fmer mn 20

3. ¥d #, qff 9= 3w ufinf fimem 49
faferam F aw = 39

A= o e g2 F v = wd s gPn)
fa] e 1 3R 2

(b) el 3

fc) 1,23Mm3

(d) a1
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53.

Frefefaa 3 & #F-1 o s wzm i 27
(a) TR
(b) ATEE
(c) @&l
(d) wETEz

54. Frfaflas 4 § Fwu-dt 55 ofim o =

27

fa) TeEmEd
(b) M
(c) Tz
(d) Faf

55. % wEg e ABC W e fifse Sm f

frifera st & fean o 2
A
\Y
c B

% = ok & v A fag 4 ok B A W
30 km ¥fd 921 3 20 km 3@ g1 & 5@
3w %, oiR Fuw B g @ o
e =gt 81 3 vgelt 9w wH-g@ & fel

(a) frg cm
(b) CSR AT 4 0 fag W
() ARBFHusfgw
(d) fag Am
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51. Which of the following statements about B3. Which one of the following is not an
tropical cyclone are correct? igneous rock?

1. It originates and develops over

; ) QGranite
warm oceanic surface,

2. Presence of Coriolis force is (b) Gneiss
necessary for it. _
3. It occurs in middle latitudinal (c) Pumice
fegion. {d) Basalt

4. It develops ‘eye’ with calm and
descending air condition.
54. Which one of the following rivers is west-
Select the correct answer using the code flowing?
given below.

(a} Godavari
{a) 1 and 2 only

) 1,2 and 4 (b) Periyar
fc) 3 and 4 only fe} Tungabhadra
(d) 2,3 and 4 (d) Cauvery

55. Consider an equilateral triangle ABC as
52. Which of the following statements about given in the following diagram :
biodiversity hot spots isfare correct?

A

1. Biodiversity hot spots are identified \d

by the International Union for

Conservation of Nature and Natural

Resources (IUCHN). C B
2. Biodiversity hot spots are defined

according to their vegetation. Two people start at the same time from
3. In India, Eastern Ghats and points A and B with speeds 30 km per

hour and 20 km per hour respectively,
and move on the sides of the triangle in
the clockwise direction. They meet each
Select the correct answer using the code other for the first time at

given below.

Western Himalaya are the
bindiversity hot spots.

{a) point C
fa) 1 and 2 only
(b} 3 only {b) =a point between C and A
fc) 1,2 and 3 {¢) a point between A and B
o (d) point A
BTS5-U-GHYT/5%9A 19 [ P.T.O.
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56. 3 @EH 3R 2 el 1w it § figw

YR ¥ FHaEg e w1 gwar & 2 wefel
TFH-gE & FHAR (H19-94) € 9fs § @7

fa) 12
(b] 24
fe] 48

{d) 120

ET.Eaﬁﬁaﬁﬂrgaﬂtm%ﬂaﬁmqq
¥ 3: 1 #1 15 39 waw, A oW =
W[ 2:1 & SN 3@ =R f ey
foraft 27

faj 45 ad
(b) 40 T4
(c) 357d
(d) 30 ad

58. 8 ¥ #i T W =1 @Y Featw w2 ¥ w @
&1 I FT I 6 B2 21 15 T W=
Th & 2 R # 9 @it i S (R
4 =far wr R) ot S 9@ @9 i o
w1 98 wm fa R, s @i & wh W gl
(37em fed) R et S et @7

fa) 6 %2 dFH

(b) 6 %W 31t fFg 7 g2 & =
(c) 7 %28 3few, g 8 2 4 3w
(d) 8 %z ufims
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L. {1 IE T F wEvEds whan fif
3R A9 R T 52 = wEm w wd I gh

L -8

I o AerT-rem e § R w9 1,
FY 1 =1 98 wElEm

fa)

(b) B e IErr-sEm wd E, feg w

11, F97 I 1 ¥ oyt =&t 2

(c) =u7 1% 2, fhg o 11 Tem B

(d) %491 7ea g, feg o 1wl 2

59, FUA1;

Ay it Pt # & e TR )
HYyq I1 :

T U fagd-graeiy @l ¥ i ag et
B & T gFa 21

60. FYTI :

feE-am mr @ @ R

™ w wE (RngeEw)
(g=) =)

% wig @
! T oI
FYA 11

forga-urr va® " UE AR e 9 ek
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56. The number of ways in which 3 boys and Directions :
2 girls can be arranged in a queue, given

The following eight [8) item ist of two
that the 2 girls have to be next to each = g eight (8) a o

statements, Statement 1 and Statement IL

othor; s Examine these two statements carefully and
select the correct answer using the code given
fa)] 12
belowr.
(b) 24
Code :
fc) 48
{a) Both the statements are
) 120 individually true and Statement II
is the correct explanation of
> ’ Statement 1
57. The ratio of ages of a man and his son 18
3 : i:::r 1.5 ‘T::IEIS' thefatg}f ratn:::'ﬂl be {B) Both the statements are
v S e o individually true but Statement II
is mot the correct explanation of
45
(a) e Statement 1
{b) 40 vears
{c) Statement]is true but Statement Il
fe} 35 years is false
(d) 30 years {d) Statement I is false but

Statement II i1s true

58. Two pillars are placed vertically 8 feet
apart. The height difference of the two 59, Statement I :
pillars is 6 feet. The two ends of a rope
of length 15 feet are tied to the tips of
the two pillars. The portion of the length
of the taller pillar that can be brought in Statement 1I :
contact with the rope without detaching
the rope from the pillars is

Sound waves can travel through
vacuum.

Light is an electromagnetic wave and
can travel through vacuum.

fa) less than 6 feet

60. Statement] :
(b} more than 6 feet but less than

7 feet A compass needle placed near a
current-carrying wire will get deflected.

¢/ more than 7 feet but less than Statement II

8 feet
A current-carrying wire creates
fd) more than 8 feet magnetic field around it.
BTS-U-GHYT/B59A 21 = [P.T.O.
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=¥ 01 :

e W 3R AfiE o R 3 e gRem
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62,

=1 ;

HeTe it e wvn g Ot st
Aty & faas A 3=yE w99 |y

I :

91 TSt 1 9T 0% G0 REfEs-ied
% 9§ a1, fomd =i il &+ o
stéra €l ) dean @g W ot

HHq I ;

aTE # TS g % GgeeR gl W fate
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ST 21
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66. FYAI :
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% Trg qOd el F GdieE A

ECN I

i areglies § e ok gidi el =
THHR Tk T e I 4
2 WG & 99 WEF &
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6l1. Statement 1 :

For early societies, historians retrieve
information about elite families mostly
from inscriptions.

Statement II :

Satavahana inscriptions generally end
with the term Putra, a Prakrit word
meaning ‘son’.

62. Statement 1 :

In 1856, Nawab Wajid Ali Shah was
dethroned and exiled to Calcutta on
the plea that the region was being
misgoverned.

Statement 11 :

The Nawab was accused of being
unable to control the rebellious chiefs
and Talugdars.

63. Statement I :

Mahatma Gandhi went on a fast unto
death against the Communal Award
announced by the British Government.

Statement II :

The Poona Pact resulted in a joint
electorate with an enhanced number of
seats reserved for Depressed Classes.

64. Statement I :

In India, a majority of the members of
the Rajya Sabha are elected by the
elected members of the State
Legislatures.

Statement 11 :

Members of the Rajya Sabha elected by
the State Legislative Assemblies need
to have their domicile in the concerned
State.

BTS-U-GHYT/59A
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65. Statement 1 :

The Permanent Settlement was rarely
extended to any region beyond Bengal.

Statement IT :

After 1810, the agricultural prices
declined affecting adversely the income
of the Bengal Zamindars.

66. Statement I :

Towards the beginning of the
20th century, a new hybrid
architectural style developed which
combined the Indian with the
European.

Statement II :

By integrating Indian and European
styles in public architecture, the
British wanted to prove that they were
legitimate rulers of India.

67. Which of the following statements about
town planning in British India in early
19th century is/are correct?

1. The funds for town improvement
were also raised through public
lotteries.

2. The threats of epidemics gave an
impetus to town planning in the
early decades of 19th century.

Select the correct answer using the code
given below.

faj 1 only
(b} 2 only
fcj Both 1 and 2

{d) Neither 1 nor 2

[ P.T.O.
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68. WA i TaAa & &1 A FefefEa s 3 @
HA-T1 /9 T B/E7

1. 15 37F4, 1947 = 904 #1 =aaar £t
1 30 gU W & efvenfE seaao
T =N S ArEEEET g #i T ot

2. 15 37, 1947 = UwgHl # gu IewEl
% mgrem et Ifem w6 9

I fou T e w1 wEm = ad I g

(@) #Fad 1

(b) a2

fe) 1 3w 23R

[d) Ad1,382

69. Fm H I ¥ frwd wumEEl ghwm =
vt fen a7

fa) Tz 991

(b) Fitez 29

() T 3R

(d) TER 9eE
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70. Frefafiaa # & fros ooy & fafen gre o9

=1 Hel=g =17

(a) 3647 GRram @aiya wfafw, 1975
fb) 741 dfgm gwvs AEFE, 1956
(c) 3531 dfaum g wfufiem, 1974
fd) sat afgam w@eigm sfufiag, 1955

71. fafafas 4 & #fv-a1 w fla, 3=m

=AqieE § fgfe o wmmm 8
o % gea Ayl it mmndw %
Hfeemdi-Hedt i yaear & e g2 ga 27
(@) FHTETTE IR TAH A U5 (22)
(b} THe Gto THT FATA WRA = WFIf

(c) TRT T ST YRA E@Y

(d) THe 3o VS FATH WA 69

72. Fofafigs 4 & oo dRys dovm Y o= &

Tt /T8 yE-veal ¥ oy /aeniE £
wiferal @1 Tga T fa 27

fa) 6131 wuiA, fomd gaem F3 61 3y
21 a4 & Hemt 18 94 = T

(b) 5249 G¥ge & Soi-"ed THUH 39Ey

c) 424 WAMER F aEw IqEUl W 444
CRICER- il Erece|

(d) 73al guE, a3 d=Ea e =
=9+ Nival 98 Fi
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68. Which of the following statements about

India’s Independence is/fare correct?

1. The formal transfer of power on
15th  August, 1947 heralding
India's Independence was

70. Sikkim became an Associate State of the

Indian Union through

(a) the Constitution (36th Amendment)
Act, 1975

(b} the Constitution (7th Amendment)

announced by Lord Mountbatten. Act, 1956

2. Mahatma Gandhi was not present fg. 1he Conatifubion. (35th Amendment]
at the festivities in the capital Act, 1974

on 15th August, 1947. (d) the Constitution (5th Amendment)
Act, 1955

Select the correct answer using the code

; i T1. Which one of the following judgements is
given below.

associated with the primacy of the Chief
Justice of India and the Collegium of
Judges in the appointment and transfer

fa) 1 only of the higher judiciary?
fa) Kesavananda Bharati vs. State of
(b) 2 only Kerala

fb) 5. P. Gupta vs. President of India
() Both 1 and 2 fc} Maneka Gandhi vs. Union of India

{d) S. R. Bommai vs. Union of India
fd} MNeither 1 nor 2

72. Which one of the following Constitutional
Amendments has enormously
strengthened the powers of the
Speaker/Chairman of the Houses of the

. . Parliament/State Legislatures?
69. Who among the following in Congress
represented the socialist view? fa) Hlst Amendment which reduced

the voting age from 21 to 18 years

fa} Rajendra Prasad (b} Anti-defection provisions of 52nd
Amendment

(b) Narendra Dev fc) Repealing of many of the provisions
of 42nd Amendment by 44th
Amendment

{¢) Maulana Azad
(d) 73rd Amendment that conferred

extensive powers on Panchayat
d} Sardar Patel Bodies
{

BTS5-U-GHYT/G9A 25 [ P.T.O.
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73. @oe i fp=fafas @ o e afafe 4 o9 an

76. Ve EEw ga (F2) Tw H GWYE w1

& w5 weeg 481 atar &7 iR wéugm =1 Avfeyly ¥ (Fediee) ¥ T
=4 Tramsiter o mn on?
(a) @i oar gl
: (@) 2015
(b) TR 3w wiufa (FeErlt sema-gedt
Hiafd) (b) 2016
(c) HTEEA |
c) 2017
(d) Fm-fawgs fawm @ d=g wEh awff
(DRSC) (d) 2018

74. ¥HA % €EUA & Fg=ve 371 A, F=fafaa 7

4 form Ty #1339 = A 27

77. Hife smEe i ot ofteg | Fesfefes 8 @ 999

Hg T 87
(@) TERTZ fa) TuTE
(b) A HEE (b) Tl
(c) TS (c) Tt % FEh
(d) FAi= (d) €9 TSEEAT & geaEHt

78. Tr=fafes & @ foew 9 (F=n) =t &

75. W3 2018 #, Feiemiga 4 & e 4% = el T (ot o i

3R (3Hfee) fon w3 ofR T 1 e e

IR & I fad &% g O T e W?gfm FEFT (RYSK) # foemn
T =

s W (a) FEE TAT 5 T (NYKS)

(b) = EF

(b) 7 TR (YH)

(c) e J T 3 (c) TEW TET AT (NSS)

(d) =u= &= (d) TEmE ga T wEEA (NYLP)
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73. Which one of the following Committees of 76. When was Startup India Hub
the Parliament has no Members from operationalized to resolve queries and
the Rajyva Sabha? handhold startups?
fa) Public Accounts Committee fa) 2015
fb) Committee on Public Undertakings (b) 2016
fc} Estimates Cominittee fe} 2017

fd) 2018

(d) Departmentally Related Standing
Committee (DRSC) on Finance

77. Who among the following is not
associated to the Governing Council of

74. Which one of the following States NITI Aayog?

does not find a mention in Article 371

of the Constitution of India? (@) “The Prime Minister

{a) Maharashtra (b} The President

() Madhya Pradesh (c) The Chief Ministers of States

fe) Gujarat {d) The Chief Ministers of Union
Territories
(d) Kammataka

78. Which one of the following organizations

75. In May 2018, which one of the following :h::& I*;Zg;ii ’:t&? :‘ ;ﬂwh 111::::1'&113
banks was restricted from giving fresh ya 1uva sashaknkaran

]
credit and new recruitment of staff by Karyakram (RYSK)'?

the Reserve Bank of India?
(a) Nehru Yuva Kendra Sangathan

(NYKS
fa} Punjab National Bank )

{6} Dena Bank (b} Youth Hostels (YH)

fc) National Service Scheme [NSS)
fcj Central Bank of India

{d} National Young Leaders
{d] Bandhan Bank Programme {NYLP)

BTS-U-GHYT/S59A 27 [P.T.O.
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79. FmfafEs 4 @ few 3w 3 2 @1 4 siwtid 3=

EEE § TREd FH % W9 WEE &
g w9 @ siftwgfea 27

(@) AT
(b) e
fc) Tefidim
(d) =t

80. zH | Tt T 1 § gl sy & g S =

wurEh fratfaa fomen mn &7
(a) T BRI
(b) wft fomfd
fc) am g
(d) 3 Frem

81. wrd ¥ dfum % an # F=fafan u & @

FH-91/4 wet /87

1. ‘T w1 PR WER age e 20
wedTfEa R e =m)

2. T dte Mo IEEHL T FFA T H
Magm ¥ wregu Gl & o % w0 A
4 47|

fi= fou M 2 w1 wAT W= wd I g
fa) FaE 1

(b) Fa 2

o) 13K 2=4

() q1,TE 2
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82. W * dfaum & =n d T=fefas sw=i 4 |

HH-91 TH TEl 87

(a) T Tt 1946 ¥ fTwaw 1949 % #=
e o A

(b) wiam F wredl @ sH-wnst § =il g
il

(c) Tam @ dfaam =1 9% wfmae woi@ &1
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T9. Which one of the following countries has 82. Which one of the following statements
recently formally notified its intention about the Constitution of India is
to withdraw from the International correct?

Criminal Court?
fa) 1t was framed between December

fa} Namibia 1946 and December 1949,

(b} Serbia {b) The drafts of the Constitution were
discussed in public meetings.

c) Philippines

(c) o fe) It is the shortest document of a

{d} Norway Constitution in the world.
{d} It came fully into operation
80. Who among the following has recently immediately after the drafting was
been elected as the Prime Minister of completed in December 1949,

China for a second term?
83. Who among the following has net written

fa) Li Keqgiang about partition in his works?

fb} Xi Jinping (a) Saadat Hasan Manto

fe) Yang Xiaodu (b} Bankim Chandra Chattopadhyay
(d} Zhou Qiang fc) Bhisham Sahni

(d} Narendranath Mitra

B1l. Which of the following statements about ) )
the Constitution of India is/are correct? 84. Which of the following statements about

Harappa Civilization is/are correct?
1. The ‘Objectives Resolution’ was

\ 1. There is the extraordinary
Vall 1.
Tove by, Sardas ViR Date uniformity in artefacts as evident in
2, Dr. B. R. Ambedkar served as pottery, seals, bricks and weights.

the Chairman of the Drafting
Committee in his capacity as the
Law Minister.

2. The late Harappa sites also
maintained the same construction
techniques as were used in mature

‘ Harappa sites.
Select the correct answer using the code

given below, Select the correct answer using the code
given below.
fa) 1 only (@) 1 only
fb) 2 only (b) 2 only
fe) Both 1 and 2 {c/ Both 1 and 2
{d) Neither 1 nor 2 {d) Neither 1 nor 2
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85, aaud & =R 1 frafafas s o @ s=-a1/@ 88. T A frm faendi 3 w8 2018 A, swiEl

T 2/27 o @ st fagfa i gron 67
1. ¥l # ot wewg Em @ ¥ fa) & B
g fag wefig R, 9@ % & 9o, (b) 2= I
W‘ﬁﬁﬂﬁ%ﬁﬁﬁﬂil fc) quiﬂbﬁlﬁfﬁ'ﬁlﬁ
2 wiww ¥ W W Im T F R -
A S qIE AEEE ¢
89. ¥ @ ¥ U dr 1 f=fefan § @ #R-dt
19 fa My 2 w1 W w wE IW g St (o) st B wE W oW
(a) a1 (Recderfl) =i Il agmfa e (g@=u
EEiys GeF), alaHe gu Suiea B
(b) Fad 2 T 917
(c) 1323 (a) wTETA
b) e
(@ TA1, &2 e
(d) E9E
86. T AW oK T ww % my 2w FefafE
# ¥ F-T1 0w W W gafoa 87 90. Fr=fafaa # 4 e feem =1 wdfin fFew gom,
2018 1 448 Fr= fFen = geewn fam @
F1 A qUAT A8 =
fa) Tren e fEfedt @ wsics ' P
(c) Sreaar . AgWcS (c) A
d) Fq
(@ Fram . el ol
o1, f=fafiga § ¥ ==-w g oo f=mum 3
- wetia 27
87. iz =ifewa, @t g &1 = fwen (gew) 4 :
TEaE &, uid § T w9 @ Prefated § @ (@) Fo Jo wEI, Wo T=fEER, Te FAME,
o e el el 27 _ 3o e
. (b) Fo FEWwH, Wo HfgEd, o M,
g ol avaTEn o
(b) Fl (c) uho Ufed, Fo WA, WHo FFHHH,
So THo &
o (@ < dade, du SERe, T
(d) = Frer, Fio 3o AR
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85. Which of the following statements about 88. Who among the following cricketers
Jainism is/are correct? has announced his retirement from
1. The most important idea in Jainism international cricket in May 20182
is that the entire world is animated, fa) Steve Smith
even stones, rocks and water have
life. (b) David Warner
2. Asceticism and penance are (c) AB de Villiers

required to free oneself from the

fd) Shane Watson
cvcle of Karma.

Select the correct answer using the code 89. In a recent deal, a large stake of which

given below. one of the following e-commerce
companies was acquired by Walmart, an

fa) 1 only American multinational retailer?

fb} 2 only {a} ShopClues

fc) Both 1 and 2 (b} Flipkart

{d) Neither 1 nor 2 (6} “Yepme

fd} Snapdeal
86. Which one of the following pairs of
couniries with new names and old 90. Which one of the following films was
names is correctly matched? awarded Best Feature Film in the
National Film Awards, 20187

{a) Village Rockstars
{b) Toilet : Ek Prem Katha

New name Old name
(@) Kingdom of eSwatini : Swaziland

(b) Malawi : Rhodesia & Nototoe
fe) Botswana : Nyasaland (d) Mom
{d}] Zimbabwe + Ceylon

91. Which one of the following groups

87. In India, Indus Dolphin, one of the belongs 1o the same school of thought?

world’s rarest mammals, is mainly fa) J. J. Rousseau, M., Robespierre,
found in which one of the following N. Bonaparte, 0. Cromwell
rivers?
fb) T, Jefferson, J. Madison,
fa) Ganga G. Washington, Abraham Lincoln
(B} Cauvery fc) F. Engels, K. Marx, M. Bakunin,
J. 5. Mill

{¢) Brahmaputra ;
(d} Georgi Plekhanov, Vera Zasulich,

{d] Beas Alexandra Kollontai, V. I. Lenin
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92. tuEd ey (FgET & W fan) stufeE, 94, fifefga § & fem amm 3 el =2 5
1996 (PESA) THTE ® A 96 * g (B f S«
=dt #1?
(@) T FETEE W WHE SEHE SEE
&t arfir iR 3 2 (@) TEHIET HET
(b) FEfaT SR W s W el (b) TR S
o fc) Fz=eRn HEM
(c) ;iéﬁﬁa;m&a%mﬁﬁaq@aéﬁ P g w
(@) e & ) i I g6, e 8 8 e v e % W A
A st v & e w wwsd @ @
e 87
93, Frfufigs # § R w 2l wavst 1 wHyH (a) o, wiewefi, g it gl
@ ¥ o % 9 st oew wa A wgE
3% gi7 (b} werett, 95, w0l i Afdeh

1. <T&= ufeuy fadas, 1959 o e, -

2. ¥ a1 Imam (Fom) fdgs, 1978
3. AR Faw faies, 2002 (d) S, Feoft, Wragh 2R 3G
4. qft 3w, TElE st AT
g 96. ¥ & A Frefafaa # & & v=2 & 9v@ =
9 fou o = = wET W T@E I g (i wfteat) afufem 9@t 7@ ¥ &=
e mn?
@ 1,2, 334 - i
(b) Faw 3 3N 4 5 i
fc) Faa1, 233 (@ e
(d) wad 2 3 4 (d) =EH
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92. The Provisions of the Panchayats

(Extension to the Scheduled Areas)
Act, 1956 (PESA)

(a) extends greater say to local tribal
community OVEr COmMmon resources

{b} provides greater devolution of
powers to Scheduled Tribes

fc} extends provisions of T3rd
Amendment to Scheduled Areas

{d} brings Scheduled Areas under the
better control of local Panchayats

93. Over which of the following, the Lok

Sabha and the Rajya Sabha held joint
sittings to resolve their differences?

1. The Dowry Prohibition Bill, 1959

2. The Banking Service Commission
(Repeal) Bill, 1978

3. The Prevention of Terrorism Bill,
2002

4, The Land Acquisition,
Rehabilitation and Resettlement
Act, 2013

Select the correct answer using the code
given below.

fa) 1,2, 3 and 4
fb) 3 and 4 only
fe} 1, 2 and 3 only

fd) 2 and 4 only
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94. Which one of the following Commissions

has nof examined the issue of removal
of the Governor of a State?

{a) Sarkaria Commission
{b) Thakkar Commission
(e) Venkatachaliah Commission
{d} Punchhi Commission
95. Which one of the following is the correct

combination of languages included in

the 8th Schedule of the Constitution of
India?

{a) Nepali, Konkani, Tulu and Santhali

(b) Santhali, Urdu, Konkani and
Maithili

{c) Santhali, Konkani, Bhojpuri and
Urdu

{d) Dogri, Konkani, Bhojpuri and Urdu
96. Recently, the Armed Forces (Special

Powers) Act was completely removed
from which one of the following States?

fa] Arunachal Pradesh
{b) MNagaland
fc) Meghalaya

fd) Assam

[ P.T.O.
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97. 1541 Ui S@EER wEeH  (ThmEr difem

101. W 2018 #, F=fafaa § & g 29 3 TEw

wfire) wd 2018 # et wmfom &t et 7 § W gEm Y wdE ¥ deem d
y G (Faata) fE 27
(@) YT
. fa) A
(bj EE Pl
I (c) FETE
;T (@ T
o8, wE § 99 e F WY FwEl TR W 9wl 102. & @ ¥1 g2 F uEh &7 47
W @ i
(@) Toeah wigeret (anfiren gamEmE) % A (b) TEEE
(b) =iforfsuss e, 8 2% SR i (c) WM
(d) BRI Tt
() TE-=em (Jew-gEian) & ferg FRm
RS A 103, At ¥ wr § Pefufed s § @
() Teega smeq +H-91/8 udl /27

1. 3% UE 3a g T % ¥ W e

99. w§ 2018 #, T ¥ w9 o2 T fi ;W # wran o, foel e et & goa i

< , o €1
Tefir 3 gt & w9 § fEia gl i SRS e P
ap: R #2 fw e e w1 W W |/ I gH|
) i (a) a1
(cj W HigmE (b) AW 2
(d) FEE FHTRA (¢ 1 3 22E
(d) [ 1,948 2

100. @ 2018 #, Wid 3t A0 F TH-§ T TWEI

% dta =9 dar AR i et o7 104, Tedl T &t IUTER Ydswe & &1 § = | 7m

_ 78 % wHeare w1 fem FE G om et
fer} HTETE] i _cgfﬁFﬁ ” S
(b) TP 3 HISHIE, (b) TETEAG
(c) ST IR FTHIL (c) @i
(d) e AN SRR (d} FCEE
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97. 15th Asia Media Summit was hosted in
May 2018 in

fa) Kolkata
{b) New Delhi
{c) Chennai
{d}] Bengaluru
98. In India, cars bearing black number plate
with vellow lettering are

fa) wvehicles belonging to foreign
consulates

fb) commercial vehicles such as trucks
and taxis

fc) commercial vehicles available on
rent for self-driving

fd) electric vehicles

99. In May 2018, who among the following
was elected as the Prime Minister of
Malaysia at the age of 927

fa) Siti Hasmah Ali
{b) MNajib Razak
fe¢) Mahathir Mohamad
{d) Anwar Ibrahim
100. In May 2018, bus service between which

two places of India and Nepal was
launched?

fa) Nalanda and Lumbini
(b} Gaya and Kathmandu
{c} Vmasi and Vaktapur
(d) Ayodhya and Janakpur
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101. In May 2018, which one of the following
countries has relocated its embassy in
Israel from Tel Aviv to Jerusalem?

(a)
(b}
(c)
(d)

102. Who

Iran
Germany
Usa
Turkey

among the following was Buddha’s

foster mother?

(a
(%)
fc)
(d)

Purna

Gajalakshmi

Maya

Mahapajapati Gotami

103. Which of the following statements about
Bodhisattas is/are correct?

1.

21

They were perceived as deeply
compassionate beings who
accumulated merit through their
efforts.

They made attempt to attain
Nibbana.

Select the correct answer using the code
given below,

(a)
(b}
(c)
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

104. Depiction of the descent of the river
Ganga from heaven in the form of relief
sculpture on rock is at

(a)
(b)
fc)
(d)

Ellora
Mahabalipuram
Sanchi

Amaravati

[ P.T.O.
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105. WA & UEdld 6 aueE 84 & o % gag |
fonafafiaa =2l # @ F9-w1 ws ot 7l 87

(a)

(b)

(c/

(d)

TEafe ® &HEA &4 i uie €, 99 €8
HYF ITRY TH U9 A FE O
™ B

wgafd 39 Wt AawE! 7 gEEE 2 89 8,
o <o o 7oy 2= E

T Afaes W Ugels & fofg & ey &
=EeE # S a6 nifE
=gd Hiffa 2

upafd g/ eEeH &4 @ ufw U R
g, B wyEw s =g & afis
aew ¥ foeg =ft o mm 4 =&
8l

106, Fefafias # 8 vida Sd=ar wfufeEm, 1947
£ srfrenafies fagear =0 T8 27

(a)

(b)

c)

(d)

urd & sntuuen (SifafeEm) = fe,
FfaeE, uiad deE, @ dme i
NWFP & S12a 11§ YN =1 &= fHen)

= wfufem 4 Bty 4o ft fueh
= 4 uF g fuffm =1 =
AT T4

T afufEm § @ =a3 S &

TG T T W 911

we Sifafga i afEue o e
1 dfum 1 39 2R sifler =0 &
STHIHT T1feh =1 gA1 (Toan =) 9mi
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107. ¥ 313 (NI) ©d | B0 s (P =i e s
T givariia e T 27

(a)

(b}

fc)

{d)

TP aE - wfaaia @ - ofErt g
o T G2 = yaE — e Ao+
TR AR T g0 ER @ e

HIdH

dy @ — sfEafE a — weEt o+
T 3 wH| ZRT 94iEEl W e
T

wfyafa @ — fErit gr e mn A
ST A + WEHR ST EA g IREm
w1 ST 3T

sfaaia @y — giEr g o o e
=T JTaE — FEH

108, Gk = (30 mf) F ARdE fod &= 3@
formr werr wftsmfim fam &7

(a)

(b}

(c]

(d)

CU (=t +em + f&&) + DD
(anfirfes 1 511 W@ T 4 | )

CU + DD + S/ 9 99d =i # =@=9d
SHT

CU + DD + aiuifsas d=1 &t 42 9=y
=H1

CU + DD + aiftrf=as &=l & 42 gafY
ST + SEEAT T
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105. Which one of the following statements
relating to the power of the President of
India to grant pardon is not correct?

fa] The President has the power to
grant pardon where punishment or
sentence is by a Court Martial,

{b) The President can grant pardon in
all cases where the sentence is a
sentence of death.

{c) The Court's power of judicial review

is very limited in relation to the

decision of the President on merecy
petition.

The power to grant pardon by the
President is the power that the
sovereign never exercises against
its own judicial mandate.

(d)

106. Which one of the following is neot a
characteristic feature of the Indian
Independence Act, 19477

fa) The Dominion of India got the
residuary territory of India,
excluding the provinces of Sind,
Baluchistan, West Punjab, East
Bengal and NWFP,

fb) The Act sought to lay down a
Constitution by the Legislative will
of the British Parliament.

fc) The Act proposed to set up two

independent Dominions.

(d) The Constituent Assembly of each

Dominion was to have unlimited

power to frame and adopt any

Constitution.

BTS-U-GHYT/S5%A

https://previouspaper.in

37

107. In National Income (NI} accounts,
Personal Income (PI) is defined as

fa) NI — undistributed profits — net
interest payments made by
households - corporate tax +
transfer payments to the
households from the government
and firms

(6) NI - undistributed profits -

corporate tax + transfer payments

to the houscholds from the

government and firms

(¢) undistributed profits — net interest

payments made by households +

transfer payments to the
households from the government
and firms

fd) undistributed profits — net interest
payments made by households -

corporate tax

108. The Reserve Bank of India defines narrow
money as

fa) CU (currency notes + coins) + DD
(net demand deposits held by
commercial banks)

b} CU + DD + saving deposits with

post office savings banks
f¢) CU + DD + net time deposits of
commercial banks
({d] CU + DD + net time deposits of
commercial banks + total deposits
of post offices

[P.T.O.
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109. 7 ifsm 5 @M F =W €50 9 e | 113. 39t 1947 sae—smies 20 s 8 Fmel

TgHt ©75 W frEmm @ T &) s e 1w oht T S et %

T 4 sm H A 100 FrEmm 8 an 1§ FefefEm w29 4 8 FE-9/4

50 fremm T8 T 21 A S "I W A wd Bf2? |

et Pl 3 § 70 27 1. 3 Foea 4 =R ¥ (1883) =1 =T

fa) 4 (b) 3 #, =q1fe waa= § & wF off)

(e) 2 (d) 1 2. = 1910 3k 1913 F d=w
seaEen WER w9 (G0 wEE) W

110. F=fafag § 3 feess @y 1o e 07 wmﬁﬁ%ﬁﬁqﬁwﬁfﬁ_m|
(@) =Foim % o 3= diia w9 S,
(b) 3w & T e Himia v A1 faw T 2 i WA wEE I g

(c) Tam % fou 3= diwia

wHad 1

(@) = % R fre dwie g =
111. Trfofaa § & el /fFs v 4 gfd 98a & (b) e 2

w9 F T ST B

1. T g Temr e (c) 132

0 =S Fren S & fau sgduE

¥ = (R & D) (@) AdL,AE2

3. Tl BiE TioEm SrEEn

#i= f2u T He w wEm F a6 39 g

) =] 114. TEiaoity drew @ Eeata ol 5 9 fes

(b) FaEa 1 3R 2 wED ¥ fu wnfie ud i s es

fc) *Hae 2 #R 3 afepta w=niye o Tan?

(d 1,233

fa) 12°f dwEHtE g

112. Befafas = &= 7 @ Fes 943

waREdl wTedl o 18 e gy by 119 St

(aj =Tl

(b) WEH fc) 104t daadtE FeE

fe) ®&IRI

fd) ==% (d) oF Gl FeE
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109. Suppose the price of mangoes increases 113. Which of the following statements about
from ¥ 50 per kg to ¥ 75 per kg. Due to Binodini Dasi, a pioeneering figure in
this, the demand for mangoes declines Bengali theatre in the late 19th-
from 100 kg to 50 kg. Which one of early 20th century, is/are correct?
the following is the price elasticity of
demand for mangoes? 1. She was one of the prime movers

behind the setting up of the Star
ol e 9 Theatre (1883) in Caleutta.
fe) 2 (d) 1
2. She serialized her autobiography

110. Multipliers will be lower with which one Amar Katha (My Story) between

of the following? 1910 and 1913.

(a) High marginal propensity to

i e e Select the correct answer using the code

(b) Low marginal propensity to given below.
consume

{c) High marginal propensity to invest o L D

({d) Low marginal propensity to save

111. Which of the following is/are considered () 2 only

as India’s green initiative(s)?

1. National Green Highways Mission (c) Both 1 and 2

2. R & D for Clean Coal Technologies

3. National Green Corridor (d} Neither 1 nor 2
Programme

Select the correct answer using the code
given below,

fa) 1 only

4. The Nati i
() 1 and 2 only 11 e National Green Tribunal, set up to

deal with the expeditious disposal

(¢} 2 and 3 only of ecases relating to environmental

(d 1,2 and 3 protection, was set up under the
112. Which one of the following commercial (a) 12th Five-Year Plan

centres declined after mid-eighteenth

century? .

(b) 11th Five-Year Plan

fa} Calecutta

(b) Madras (e} 10th Five-Year Plan

fe} Dhaka

fd] Bombay (d} 9th Five-Year Plan
BTS-U-GHYT/59A 39 [ P.T.O.
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115. 99dl & gav § fafafae 9= 3 | 38-m

o HEl AE 87

() TEEE % weE dR um oA gR g
i 2

(b) TETERl % gAEl # SEeA Tey fAaE
ar gra T sman 2

(c) FFa oER wFE g0 R dEma @
F-3ME & feru miftera =2 w@wdl 2

(d) TEE THEA FO TUH 92F & SFHESE
# faf @ 3y 4 99 94 9% FEW
Tt 2

116, Fofafas § @ ==-w v @ 8, e 9=

4e 3R U=y 6 G F FRys o= g4 #
wr forem 27

(@) wrE-Ta F g

() wElam, =9 R FeEl Ao R
stz

(c) AT g w@ehfa 6 w6 EOEd &
ufa T (snmE)

(d) weeT giafagt = T

117. F=fafaa § @ FR-m, o= A Hifg & Ry

awt &1 U feem € 27
(a) @i AT F U Tom TR s
(b) U § AT 1 gUEH

fc) wraul-TR 3 SfiEA-w0 F S99 gg T
F Fa

(@) At wHEEm (EvE), [|iEEa #=
T aar s (R o m
=l WET

BTS-U-GHYT/5%9A

https://previouspaper.in

118.

feme Tt @1 SE® 9 | S =17
(a) s 9l

fb) e 3o TH

(c) ETeHT e

(d) TR ST

119, =g U9 Afewg = g v 4 &7

fa) EEFa

(b} T

e} WIEHA

(d) L,

120. ¥TA 3in sife & gam saed Feafafza 7

3 g e 3 Rrama 3 wft § firm 87

() ¥ | (g @) # Ty 1 wlamiEe
(b) <& AT

(e) =ETEEl i el et

{d) TEdd TR
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115. Which one of the following statements

with regard to Panchayats is not
correct?

fa] Members of Panchayats are elected

directly by the Gram Sabha.
(b)

The elections to Panchayats are
conducted by the State Election

Commission.

fe) The Central Government may by
law authorize a Panchayat to lewvy

taxes.

(d) Ewvery Panchayat continues for five
vears from the date of convening of

it first meeting.

116. Which one of the following concerns has
found a place in both Fundamental
Duties and Directive Principles of State
Policy?

fa)
(b}

Safeguard of public property

Protection and improvement of
environment, forests and wildlife

fc) Respect for the rich heritage of our

composite culture

(d)

Promotion of cooperative societies

117. Which one of the following is not a part of
the Directive Principles of State Policy?

fa) Uniform Civil Code for all citizens

{b) Separation of Judiciary from
Executive

() Duty of the State to raise the level

of nutrition and standard of living

(d)

Promotion of scientific temper,
humanity and the spirit of inquiry
and reform

BTS-U-GHYT/59A
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118. Who among the following was the author
of Hind Swaraj?

fa) Aurebindo Ghose
B} C. R. Das
fc} Mahatma Gandhi

{d) Rajendra Prasad

119. The Buddhist text Majjhima Nikaya is in
fa) Sanskrit
(b} Pali
{c) Prakrit
{d} Tniugu
120. The federal systems of India and the USA

are different n all the following
respects, except

{a] State’s representation in the Upper
House

(b} dual citizenship

fc) dual system of Courts

dual Government

(d)

[ P.T.O.
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121. WA & MEefd i a8 wfw & 98 B oo = 124, Ti=fefaa g o fa=m A .

AiAafg & ww gAfdan % fog am 9w gwa i o
2, gfage # e g93ide & g ol 6
i o7 2, W
3. ¥WEd
(@) 443t qmys 4. w4
- 2001-2015 # JATW F <0E, FF5a AfATE
Ll I (GVA) & ufd @1 83 F 3% 2w &
o , IE® = AR
c) 434 geiaA ma'ﬂq“ﬁ@ﬁq_m;‘ B G Ea
() 3541 GEA fa) 1,2, 34
B} 1; 3% 2
e 1, 2,4, 3
122. IWF T ofnfe Pefafee @ e e w
fraifEt 39 % foau nfga 6 7 7 () 1,3,2, 4

(@) ¥ vd Tt F 19 O F AW 125. 7R ww # % =6 ok Ry Wm §,
w 7 sdsmawn § om Al oW R @@

(b) TEEd W SEE e Y
1. et v B O wh d gk 3 s
fc) U= 6 Bl =l i W e
‘ 2. =l =/ % ufEd & o«
(d) Tafa v ITEAfd & g gt S5 W N

3. T4 @N EW I=al ARV % Wi
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121. The power of the President of India to

refer a matter back to the Council of
Ministers for reconsideration was
inserted in the Constitution by

fa) 44th Amendment
b} 42nd Amendment
fc) 43rd Amendment

fd) 35th Amendment

122. Ashok Mehta Committee was constituted

to make recommendations on which one
of the following issues?

(aj Division of tax revenues between
Centre and States

(b} Panchayati Raj System
fc}  Appointment of Governors

(d) Presidential and Vice Presidential
clections

123. In India, approximately what percentage

of households still use firewood for
cooking as per 2011 Census?

fa) 20%

(b) 40%

fc) 50%

[d) 60%

BTS-U-GHYT/59A
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124. Consider the following countries

1. China
2. Spain
3. India
4. Russia

Which one of the following is the correct
ascending order of the above countries
in terms of their share of services sector
to Gross Value Added [GVA) during the
period 2001-20157

f@ 1,2, 3,4
(b) 1,3, 4,

2
o) 1,2, 4,3
d 1,3,2,4

125. If farmers’ loans are waived in India, how

will it affect the aggregate demand in the
economy?

1. Private consumption impact via
increase in private sector net
wealth

2. Public sector impact via changes in
government expenditure/taxes

3. Crowding-out impact wvia higher
borrowings by State Governments

4. Crowding-in impact wvia higher
credit availability as bank NPAs fall

Select the correct answer using the code
given below.

fa) 1, 2 and 3 only
) 1,2, 3 and 4
{c} 3 and 4 only
{dl] 1 and 2 only

[ P.T.O.
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : BTS-U-GHYT Test Booklet Series

Serial No. 11309617

TEST BOOKLET

GENERAL ABILITY AND
INTELLIGENCE

Time Allowed : Two Hours Maximum Marks : 250

. You have to enter your Roll Number on the Test Booklet in

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF 30, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and {ill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

the Box provided alongside. DO NOT write anything else on
the Test Booklet.

. This Test Booklet contains 125 items [gquestions). Each item is printed both in Hindi and

English. Each itern comprizes four responses (answers). You will select the response which yvou
want to mark on the Answer Sheet. In case you feel that there is more than one correct respanse,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
itermn.

You have to mark all your responses ONLY on the separate Answer Sheet provided,
See directions in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to {ill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate. :

After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booldet.

Sheets for rough work are appended in the Test Booklet at the end.

. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS.

(i} There are four alternatives for the answer to every question. For each guestion for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii} Tf a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that

question.
(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question. -

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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